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IGarie gHer 2019

HALY¥ YEARLY EXAMINATION 2019

Class -IX Maths
ECERET FeT Yt AT 16
yuila 80 S YAl B et 27

Instructions- i) Ali questions are compulsory.

iy  Marks allotted to each question are indicated against the
question. |

i)  Draw neat and clean labelled diagrams whenever required.
cer i) I ue Siferd 2 1

iy Al @ 3fe I gHer sifdha €|

iii) U B ATATIDATTAR W20 Qg Aifha fora EHTS\?)_I

Q.1 Choose the correct answers- 5
a1 e gaaw ey |
) J10 x 15 is equal to -
V10 x J15 TERE -

v
a) 65 v <6
¢) 25 d) 1045

i)y  Write the simplest form of a™ =~ a"
a" + a"&l WA WY fIRgu—-

a) ami‘n b) (a)mn

¢y am? d) P
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The factorisation of 4x2 + 8x + 3 is -

4x2 + 8x + 3 BT UAETE B ~

a) (x+1)(x+3) B) (2x+1) (2x + 3)
c) (2x+2)(2x+5) d) (2x-1)(2x-3)

Any point on the line y = x is of the form -

Ty = x W Rera foosdt fasg &1 v g € -
m, a) b) (0, a)

c) (a, 0) d) (a,-a)

The angle of measure equal to 180° s -

a; Straight Angle b) ReflexAngle

c) AcuteAngle -d) RightAngle
180°% SRTER HIY el DIV —

. Va’)/waﬁur_ b) wfERit BoT

Q.2

¢) ADIOT d) FHH

True / False - 5
Whole is less than its part.
A terminated line can be drawn indefinitely on both the sides.

A polynomial of degree one is called a linear polynomial.

The graph of every linear equation in two variables is a straight

~line

Every rational number is an integer.

2
http://www.mpboardonline.com

wod duijuopieoqduu mmm//:dny



woo-durjuopreoqdur mmm//:dny

http://www.mpboardonline.com

a /3Gl

gof 3 9T | BIST BT 2 |

T Gid @1 e 3R IFIREd WY ¥ 9318 o aadl 2|
Teh 1A dlcl 9gUS DI RGP IgUE HBT el & |
ﬁaﬁmmwmamwwmm

Fill in the blanks - 5
Sum of the angles of a quadrilateralis .............

The center of acircle liesin ................ of the circle.

Each angle of an equilateral triangleis .............

The diagonals of a rhomous bisect each otherat .............

The degree of non-zero constant is always .............. _

Raa zemi a1 gftf s —
f Tt & Pl &1 e AT B |
Il BT B G D oo 4 Rerd 21

Write answer in one word/one sentence. 5

What is the maximum number of right angles that can be in a
triangle? http://www.mpboardonline.com

What is figure formed by four sides called?
The median of a triangle divides it into two.
The longest chord of the circle is called.

What the sum of all sides of a triangle is called?
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UFH 96 T I H IR Siford —

Rt Fanger ¥ o™ e T 8 e ¥

gRYErEvel § AT g wr weemd 87

Porget o1 mfereTd S fauirg Pl 271
¢
g D WA TSI AT DY FqT HEdt 87 |

" Match the columns -

“Column ‘A’

Area of a rhombus with
diagonals 'd,' and 'd,’
Area of a square with

diagonal d
Area of parallelogram
Area of rectangle

A quadrilateral of equal sides
e ATl 99187 —

AN 3

ot d, &R d, are
AT DT ATB

4

Column 'B'
—_— x dz

| .
5 Xd,Xd,

Base X Altitude
Rhombus

Length X Breadth

w9

._.XdZ
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\ 1
q) fapot d o T @1 SEne = Xd, Xd,

2
)  HHROR TS BT GFB AR X e
T) ST P AT 'mag“ja
%) WA e Tl At T X TS

Q.6  Find six rational numbers between 3 and 4.

33N 4 @ 99 B URAY T=W 3 BIfvTg |7

" OR / a2
Simplify : - (1253

" e AR — (125)3

Q.7  Use suitable identities to find the following product.
(3x + 4) (3x - 5)

SUYHRT FaAADRIT BT TN Fva Frafafad @ Tomsme wd

Y —
(3x + 4) (3x - 5)

OR / 34T

The cost of a notebook is twice the cost of a pen. Write a linear

/équation in two variables to represent this statement.

U HICgd DY DHIAT Ueb Do D DIFd F T 1 & | 59 BT
P! g &= & U g =RT aren v Raws e

%ﬁw | :

5
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“Inthe figure, if x+y=w+2z, C

then prove thatAOB is aline.
AR A, AR xby=wez B A
frg T f5 AOB t& Y& 2 |
OR/ e/ A,
Prove that the sum of the three angles of a trianglegis 180°.

Rig BIRAT : T Brget @ AT SO 1 ANT 180° BT B |

In AABC, ADis the perBéhdichar | N
bisector of BC. Show that A4BC is

an isosceles triangle in which AB =AC.
A4BC ¥ AD ST BC @1 o |
FHfgHTST® © | Teisy f& A4BC TR
wfgaTg B @, R AB=AC 21 BT

OR / 341

In the figure, POQ s a line. Ray OR is perpendicbm: 10 the.i'ine
PC.OS is another ray lying between rays OP and OR. Prove

that: ZROS = %(AQOS — £POS)

Ry ®, POQ T 4T € | TR

fhvor OR Y@ PQ W &9 ¥ | SN |
ol OP ik OR B = & : \

0S-TFH I v 2| P © Q

ﬁ:f(g Zﬁ[‘ﬁ}rq — ZROS = -;—(ZQOS - KPOS)
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Q.10 Write the following cubes in expanded form : - 2
@x+ 1y o

OR / 32T

Q.11 Inatriangle ABC, E is the mid point of median AD. Show that

ar (BED) = — ar(ABC) 2

&Agcﬁ EW@WADWW%@%IW%

1
ar (BED) = - ar(ABC) &

OR / 3104y

Show that a median of a triangle divides it into two triangles of
equal area.

W%%ﬁmﬁ@ﬂﬁ@ﬁ@ﬁﬁ?&ﬁwﬁmﬁﬁ
Byt & farfora =t 21

Q.12  Express the following in the form p/q, where p and q are integars
andq # O. 2

fFrefeiad o plg @ SU H oad PIY, S8l p 3R q T
qUIis & T g = 0 B |

wod duijuopieoqduu mmm//:dny

0.47
OR / 3¥erar

————

- 0.001

1
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1

1
77— J6 P TR I uRATHT B |

OR / 31q@r

_ 1
Rationalise the denominater of 7+ 372

.
32 P BY BT YRAYHIT BT |

T

Find the area of a triangle two sides of which are 18 cm and 10

cm and the perimeter is 42 cm. 3 |

B ST BT SFHe FT BITY Ry 2Y ot 18 ¥ aik
10 9T 8 I SHGT URATT 42 9 & |

OR /7 34T

There is a slide in a park. One of its side walls has been painted
in scme colour with a message, "Keep the park Green and

clean". If the sides of the wall are 15m, 11m and 8m. Find the

area painted in colour. http://www.mpboardonline.com

s a1 U fa (slide) Uedt 7711 g2 2 | 3T Uty

IRl # ¥ U AR wR fHE 1 9 O forar a8 ek vw
OR 9T BT EI-ART SR A% IRy foren g 21 afX g
AR P A 15 d1ey, 11 Aew ok 6 Aex @, AT A U<
TV AT T SYE%e S o |
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In the figure, £ X =629, ZXYZ = 54°, If YO and ZO are the
bisectors of £XYZ and £ XZY respectively of AXYZ, find
Z0ZY and £ YOZ. | y 3
IMRpfcT H, £ X =620 3R £ XYZ =54
21 % YO 3R 2O &4 AXYZ &
ZXYZ 3R 4 XZY B FEigHoP &,
@ £0ZY 3R £ YOz sa HIRTT |

OR / 3941

Inthe figure, PQ and RS are two mireérs plaggd garallel }& each
other. An incident ray AB strikes the mircor PQ at@=ttie reflected
ray moves along the path BC and strikes the mirrors RS at C
and again reflects back along CD. Prove that: ABI|CD

ST € Sl U g¥R @ WA
RE Y 7 | TP IMIa fHeor AB
U PQ ¥ B WX THRE! B
aﬁ?mﬁﬁﬁmrwacw

'WWRS?CWW%H‘&TQ‘? CDa%agI%w

qRTaferd & e 2 |
fR1g wifore & ABIICD

The angles of a quadrilateral are inthe ratio 3: 5: 9: 13. Find all
the angles of the quadrilaterai. 3

. T JTYST B DIV 3:5:9: 13 B AU & 2| TLATH B

THT DIV ST BIRTY |
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OR | YT

If the diagonais of a par"allelog ram are equal, then show thatiit is
areptangle.
AR T iR T B Rt awey g, Tuise b a9 1
ad R | |
Expand :- (4a - 2b - 3¢)® 4
(4a - 2b - 3¢)? T THR BINTY |

OR / 3dr
Factorise : 8a° + b® + 12ab + 6ab?
OGS PIAY = 8ad + b? + 12a% + Bab?
Locate the points (5, 0), (0, 5), (2, 5), (5, 2), (-3, 5), (-3, -5),
(5, -3) and (6, 1) in the cartesian plane. (in graph paper) ‘ 4

it ot # fIgait (5, 0), (0, 5). (2, 5), (5. 2), (-3, 5). (-3, -5),
(5, -3) TAT (6, 1) BT VI AR BT |

OR / 3¥dl

Plot the following ordered pairs (X, Y) of numbgresds points in

the cartesian plane use the scale 1 cm = 1 unit on the axis.

X

-3

0

-1

4

2

Y

=

-3.5

-3

4

-3

o e g @1 P aa @ faeget @ wa
amaRaa Wy | el &7 SEET 1 VIR = 1 gEHS T |

X

-3

0

1

4

2

Y

7

-3.5

-3

4

-3
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AB and CD are respectively the smallest and longer sides of a

quadrilateral ABCD (see figure) Show that 4
ZA > ZCand £B > £D D,
AB 3R CD FH: U&F =gl ABC R

@ FeX BIE) 3R Fa T OTY & |

sy i ZA > Z¢€ 8! c

R Z/B > ZD 2|
OR / 31dT

Two sides AB and BC and Median AM of one triangle ABC are
respectively equal to sides PQ and QR and Median PN of triangle
PQR (see figure). Show that A A

/]

B M C QTN R

AABM = APQN
AABC = APQR

e Br[ST ABC Y 21 3ed AB IR BC el HIRamT AM B -
T& AR Brgst PQR @1 4oiil PQ 3R QR T A1feget PN

P IR B | T8 b —
AABM = APQN

AABC = APQR

Sides of a triangle are in the ratio of 12:17:25 angt# pétimeter

is 540 cm. Find its area. 4

T 3n[eT @) oTIsil BT Ui 12/17:25 8 ol SRrET TRA

540 W 2 | B[t &1 &bl Sa BIAT |

OR / 311471
11
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An isosceles triangle has perifneter 30 cm and each of the equal
sides ic 12 cm. Find the area of the triangle.

U GHlgaTg Byt @1 Ry 30 A B SR SHS SRIER Yoy
12 HHI FeTE B R | ¥ ST &1 arer s BIRTY |

Find the remainder obtained on dividing P(x) = x3 + 1 kby X+ 1.

P(X)=x2+ 1T x+1 ¥ AT 9 TR YT A¥Bel ST PIHT |
OR / 3Ydi |

Divide the polynomial - 4

3x*-4x*-3x-1by x-1

3x4-4x3-3x-1 B x-19 ‘TPT AR |

In the figure, A, B, C and D are four pbints on a circle, AC and
BD intersect at a point E such that . BEC =130°and  ECD

= 20° Find ~BAC. http://www.mpboardonline.com 4
uTed T ¥ Ud gd WA, B,CIRD P &
IR f§=g 81 AC iR BD & fag E W AN
59 UPR uReoT avd € R, BEC = 1300 ® ¢

TAT LECD=20° §| £BAC ST HIOT |

OR / 31qar /
ABCD is a cyclic quadrilateral whose diagonals intersect ata
point E. If £DBC=70°, ~/BACis 30° Find £ BCD, Further,
if AB = BC, find £ ECD.

U fag E wR uftress axa B 1 3f
ZDBC =70° 3R /BAC=30° & aI
£ BCD ¥ &I1T | g If AB=BC &

ar £ ECD s it |
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Yamini and Fatima, two students of Ciass IX of a school, together
contributed Rs. 100 towards the Prime Minister's Relief Fund
to help the earthquake victims. Write a linear equation which

satisfies this data. Draw the graph of the same. 5

V& fdenera o wenm a9 31 BrEe g iR wifaAr |
e YU difsa Aafaaal S erar @ forg wem=H= red
DIY | 100 w. T a7 | v Waw aiiaxor fikgy & 571
P! DY AYT PRl & | TH AAIBRUT BT Aol HHIT |

OR / 3Qr

The texi fare in a city is as follow : For the first RITOTTEYFE, the
fare is Rs. 8 and for the subsequent distance it is Rs. 5 per km.
Taking the distance covered as x km & total fare as Rs. y. Write

2 linear eqn for this information & draw its graph.

TP TR H ST &7 fawrar e @ -

ugel fhelidier &1 fvrar . 8 B 3R 99 918 31 ¥ & forg
gt et a1 v w. 5 © | Ify T I 718 & x fPamex
Bl 3R Pl BT ®. y B A1 SHBT U Rgds Fiavor forlRag
3R IHT 3T Fifg |

Verify that :- 5

X2+ Y+ 2% - 3xyz'= % (x+y+2)[(x-yP+(y-2)*+(z-x)7

R @Iy —

X3 +y>+2%- 3xyz = }2_ (X +y+2) [(XTYPEFY - 272 + (2 - X)7]
OR / 3ar
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Factorise :- T[UFEE SiId HIT —

ap - L peLp
216 2 ,,4
Intheﬂgure ifABIICD, CDIIEF 5

andy:z= =3 7 find x.

g # afe ABIICD, CD I EF
MRy:z=3:7 2.
¥ x BT HIF ST PIfSTY |

OR / 341

In the figure, If lines PQ and RS intersect at point T, strekAthat
ZPRT =40° ZRPT =95°and £TSQ =75° Find £SQT

aeRfy #, afe ¥aErg PQ Ak p

RS fIg T R 59 UK | ’ s .
ufred el § 5 ZPRT =400, ® 1-\75
ZRPT =95° 3R £TSQ=75 %, 5
£ SQT =T DI |

Line /is the bisector of an angle Z4 and £ Bis any pointon/.
BP and BQ are perpendicular from B to the arms of £A4 . Show
that -

AAPB = AAQB

BP = BQ or B is equidistantant %
from the arms of /A 1 %
TG ] T LA & xWWW?WBWIWW

TS fiig 1 BP 2R BQ PIUT A 1 YSIRHT 0 B A STel T 7
g | g9isy &
14
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() AAPB = AAQB
(i) BP =BQ?, &aﬁaf@gaaﬁmaﬂﬂmmﬁﬁm%|
OR / diefaT

ABCD is a rectangle in which diagonal AC blsects é A as well

as Z C. Show that :- 9 C

—

i) ABCD s a square

i)  Digonal BD bisects £ B as well as ZD.
/10D v s & Rert Aact AC @1 P B
DI LA JR £ C B FHIGWTST BRar & ) gorigy b
i) ABCDU® &if 8|
iy f®of BD Q1 B £B @ik 2D B TARMIRG Fvar 2|

Q.27 Radha made a picture of an aeroplane with coloured paper as
-/ shown in the figure.Find the total area of the paperused. 5§

RTET A U F0 BT A U BATS BT BT For 9737 ShT
fo ey § fawmanr = 21 wA 3¢ g BT @1 HA
B ST BIFTT |

\ o

_/

1
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OR / 3¥dr

Find the area of 5 quadrilateral ABCD in which AB = 3 cm
BC=4cm, CD=4cm, DA=5cmand AC = 5 cm.

H

UH B ABCD @7 &%l Q)
ST AT, Rt AB = 39, [ e
BC=49, CD=43%, S

ﬂ; | é&‘w/ Hem

DA =541 T AC =5 9H) |

fr 3em B
4 ¢ * 2
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